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For the primary field u solution depends on all values
between (and including) A-, A+, you can derive the
equation for u yourself.

2. ql and g2 are averages of their corresponding values

DG Page 6



plus some jump terms of the other quantities:

Numerical flux:
Recall the weak statement for local DG formulation of elastodynamic

problem: AAWM @Q(‘
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What if we want to use something simpler, that is
computing the target (star) values at only 1 point.

What would you choose:
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If we choose the mid-point in Delta t (that is tn + Delta t / 2), as in figure, the
target values are computed from points A- and A+.
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This holds for isotropic materials
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4) The effect of source terms:

We solve a simple example to show the effect of the
source term.

C’ _ UL C”( T Q(Xﬁ‘) g\w\&Q ﬂ) \W\(/w c(\\lfolw\
VN

o) = 7ok
C(X,JY;O\ : %(X\

DG Page 12



N7

T
) S S
g< 7(,,2{7 5 t - = 6(/1,1‘)17(—(,}1’7) :<7%§)
~
EC('X;{{)
. bw 9= [nes
5o - ()
o 1:=0 =)
x-2£% — :
A- %0 = %
@ qézjf >
Jcsé 2 =3 —\\_) -

BC 7(0 g
/)F?), 2 = — \C(}()S’): %/2 y_g,—)—g(%)

30 CgQ()*—COL/Q) = gLC%>

DG Page 13



!
cn9) = £ 5 i- + C ()

kS
- (7
ol = 20 gl o
4{..
v p
O\A@\N@“‘a( ({)&mo

0%

>
%
e n%&g fo "‘)“@j\/"‘M )C (C%Q

aﬂo@ e charadndre o 9,64 I Jalie R¢ fobvh(c)

_—

N\/\%& o e \wﬁ\cae\«»; { 3@02] e hate  Saice felm
W e dovkdyroni i

- () QL[N

C\
ol =0 * |k

—







